Transfers Report

This report contains the transfers results.

Contest Name Ward 20 - Cupar

Valid Votes

6,095

Positions to be Filled Quota

1,524

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Donald Marshall ADEY	Independent	33
Sylvia Mary BROWN	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	66
John Andrew CAFFREY	Scottish Liberal Democrats	1,036
Wendy Helena HAYNES	Scottish Labour Party	206
Stefan HOGGAN-RADU	Scottish National Party (SNP)	1,571
Robert Jonathan HUGH-JONES	Scottish Greens - Think Global Act Local	296
Margaret Christine KENNEDY	Scottish Liberal Democrats	2,160
Tony MIKLINSKI	Scottish Conservative and Unionist	698
Gordon Cairncross PAY	Independent	29
	Total	6,095

Candidate Stefan HOGGAN-RADU Elected with 1,571 votes, being in excess of the quota of 1,524 Candidate Margaret Christine KENNEDY Elected with 2,160 votes, being in excess of the quota of 1,524

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Margaret Christine KENNEDY

636.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Donald Marshall ADEY	14	0.29444	4.12216
Transfer to Sylvia Mary BROWN	11	0.29444	3.23884
Transfer to John Andrew CAFFREY	1,559	0.29444	459.03196
Transfer to Wendy Helena HAYNES	98	0.29444	28.85512
Transfer to Robert Jonathan HUGH-JONES	106	0.29444	31.21064
Transfer to Tony MIKLINSKI	231	0.29444	68.01564
Transfer to Gordon Cairncross PAY	13	0.29444	3.82772
No further preference	128	0.29444	37.68832
Not transferred due to rounding			0.00960
	Total		636.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Stefan HOGGAN-RADU

47.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Andrew CAFFREY	226	0.02991	6.75966
Transfer to Wendy Helena HAYNES	131	0.02991	3.91821
Transfer to Robert Jonathan HUGH-JONES	810	0.02991	24.22710
No further preference Not transferred due to rounding	317	0.02991	9.48147 0.01139
	Total		47.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Gordon Cairncross PAY

33.57547

Stage + Exolusion of Coldon Calmoress 1711			00.070+7
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Donald Marshall ADEY	13	1.00000	13.00000
Transfer to Sylvia Mary BROWN	1	1.00000	1.00000
Transfer to Wendy Helena HAYNES	3	1.00000	3.00000
Transfer to Robert Jonathan HUGH-JONES	9	1.00000	9.00000
Transfer to Tony MIKLINSKI	3	1.00000	3.00000
Transfer to John Andrew CAFFREY	6	0.29444	1.76664
Transfer to Wendy Helena HAYNES	2	0.29444	0.58888
Transfer to Robert Jonathan HUGH-JONES	2	0.29444	0.58888
Transfer to Tony MIKLINSKI	2	0.29444	0.58888
Transfer to Donald Marshall ADEY	10	0.02991	0.29910
Transfer to Sylvia Mary BROWN	3	0.02991	0.08973
Transfer to John Andrew CAFFREY	1	0.02991	0.02991
Transfer to Wendy Helena HAYNES	1	0.02991	0.02991
Transfer to Robert Jonathan HUGH-JONES	4	0.02991	0.11964
Transfer to Tony MIKLINSKI	1	0.02991	0.02991
No further preference	1	0.29444	0.29444
No further preference	5	0.02991	0.14955
Not transferred due to rounding			0.00000
	Total		33.57547

 $Report\ Name:\ Transfers_V0001_Ward-20---Cupar_06052022_151832.pdf\ Created:\ 06-5-2022\ 15:18:32$

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Donald Marshall ADEY

51.01946

Ctage & Exercise of Bertaid Material 71821			01:01010
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sylvia Mary BROWN	9	1.00000	9.00000
Transfer to John Andrew CAFFREY	9	1.00000	9.00000
Transfer to Wendy Helena HAYNES	3	1.00000	3.00000
Transfer to Robert Jonathan HUGH-JONES	10	1.00000	10.00000
Transfer to Tony MIKLINSKI	4	1.00000	4.00000
Transfer to Sylvia Mary BROWN	2	0.29444	0.58888
Transfer to John Andrew CAFFREY	4	0.29444	1.17776
Transfer to Wendy Helena HAYNES	1	0.29444	0.29444
Transfer to Robert Jonathan HUGH-JONES	2	0.29444	0.58888
Transfer to Tony MIKLINSKI	1	0.29444	0.29444
Transfer to Sylvia Mary BROWN	6	0.02991	0.17946
Transfer to John Andrew CAFFREY	1	0.02991	0.02991
Transfer to Wendy Helena HAYNES	4	0.02991	0.11964
Transfer to Robert Jonathan HUGH-JONES	6	0.02991	0.17946
Transfer to Tony MIKLINSKI	1	0.02991	0.02991
No further preference	11	1.00000	11.00000
No further preference	4	0.29444	1.17776
No further preference	12	0.02991	0.35892
Not transferred due to rounding			0.00000
	Total		51.01946

Report Name: Transfers_V0001_Ward-20---Cupar_06052022_151832.pdf Created: 06-5-2022 15:18:32

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Sylvia Mary BROWN

80.90448

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Andrew CAFFREY	23	1.00000	23.00000
Transfer to Wendy Helena HAYNES	4	1.00000	4.00000
Transfer to Robert Jonathan HUGH-JONES	5	1.00000	5.00000
Transfer to Tony MIKLINSKI	16	1.00000	16.00000
Transfer to John Andrew CAFFREY	3	0.29444	0.88332
Transfer to Wendy Helena HAYNES	3	0.29444	0.88332
Transfer to Robert Jonathan HUGH-JONES	1	0.29444	0.29444
Transfer to Tony MIKLINSKI	1	0.29444	0.29444
Transfer to John Andrew CAFFREY	3	0.02991	0.08973
Transfer to Wendy Helena HAYNES	3	0.02991	0.08973
Transfer to Robert Jonathan HUGH-JONES	7	0.02991	0.20937
Transfer to Tony MIKLINSKI	2	0.02991	0.05982
No further preference	28	1.00000	28.00000
No further preference	5	0.29444	1.47220
No further preference	21	0.02991	0.62811
Not transferred due to rounding			0.00000
	Total		80.90448